Front handle, one-piece - Schroff Page 1 of 1

Schroff-

Front handle, one-piece

. LU Part no.: 10501-005
-l i .
IE i = . Features: Add to basket I :
e Load-carrying capacity - —
30 kg
1:'* — r Standard pack quantity 10
1 e ol
+ a0 12 %
- ; o Technical information:
2§ Description A E
(]
,gffﬁ/ Front handle 3 for 19" front panel ' 102 mm | 88 mm
{ e |
“\!_\_\ |II %
InZ A P
AP ] |
|
gy - Delivery comprises: kit
ﬂu g
Py ltem | Qty | Description
.. 1 1 Front handle, anodised aluminium extrusion
a0
= Accessories:
Part -
no. Description
21100- Panhead screw pozidrive
788 self-locking, M5 x 12, zinc-plated, PU Add to basket

100 pieces

24560- | Countersunk screw with torx head

183 M5 x 12, zinc-plated, 100 pieces Add to basket

21100- | Pozidrive countersunk screw

234 | M5 x 12, zinc-plated, PU 100 pieces Add to basket

countersunk head screw
Torx countersunk screw M5 x 12, 4 Add to basket
pieces

24560-
182

http://web.schroff.de/catalogue/catalogue.do;jsessionid=DB92954AA8412EDC15DB1FF... 10/29/2009



